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Instructions to candidates

1. 	Answer the questions according to the following instructions.
Section One: Answer all questions on the separate Multiple-choice Answer Sheet provided. For each question, shade the box to indicate your answer. Use only a blue or black pen to shade the boxes. If you make a mistake, place a cross through that square, then shade your new answer. Do not erase or use correction fluid/tape. Marks will not be deducted for incorrect answers. No marks will be given if more than one answer is completed for any question.
Sections Two and Three: Write your answers in this Question/Answer Booklet.

2. 	You must be careful to confine your responses to the specific questions asked and to follow any instructions that are specific to a particular question.

3. 	Spare pages are included at the end of this booklet. They can be used for planning your responses and/or as additional space if required to continue an answer.
● 	Planning: If you use the spare pages for planning, indicate this clearly at the top of the page.
● 	Continuing an answer: If you need to use the space to continue an answer, indicate in the original answer space where the answer is continued, i.e. give the page number. Fill in the number of the question that you are continuing to answer at the top of the page.
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Section 1: Multiple Choice		24% (24 Marks)
This section has 24 questions. Answer all questions on the separate Multiple-choice Answer Sheet provided. Marks will not be deducted for incorrect answers. No marks will be given if more than one answer is completed for any question.

Suggested working time: 35 minutes
___________________________________________________________________________

1.	An increase in the price of strawberries would most likely result from
A. 	major floods in agricultural areas where strawberries are grown.
B. 	an increase in the price of a complementary product, such as cream.
C. 	a decrease in the price of a substitute product, such as raspberries.
D. 	a decrease in the price of fertilisers used to grow strawberries.

2.	Let D = demand, S = supply, P = equilibrium price, Q = equilibrium quantity. What happens in the market for walnuts if the Department of Health announces that consuming half a cup of walnuts each week helps to lower bad levels of cholesterol?
A. 	D and S increase, P and Q decrease
B. 	D increases, S no change, P and Q increase
C. 	S increases, D no change, P decreases, Q increases
D. 	D no change, S increases, P decreases, Q decreases

3. 	Orange juice drinkers want to consume more orange juice at a lower price. Which of the following events would have this effect?
A. 	An increase in the cost of fertiliser used for orange trees.
B. 	A decrease in income, assuming orange juice is a normal good.
C. 	An increase in the population.
D. 	A decrease in the cost of orange juice processing.

[image: ]

4.	In the graph opposite, the elasticity of demand from point A to point B, using the midpoint method would be:
A.	1.0	
B.	1.5	
C.	2.0	
D.	2.5





5.	If the supply for wheat is inelastic, shifts in the demand curve will lead to
A.	large changes in quantity traded, but only small changes in price.
B.	large changes in price, but only small changes in quantity traded.
C.	large changes in both price and quantity traded.
D.	small changes in both price and quantity traded.
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6.	Suppose that the income elasticity of demand for fresh fruit is greater than 1.0. This means that
A.	fresh fruit is an economic necessity
B.	a smaller portion of buyers' incomes will be spent on fresh fruit as incomes rise
C.	a greater portion of buyers' incomes will be spent on fresh fruit as incomes rise
D.	a given percentage increase in income will generate a smaller percentage increase in the quantity demanded of fresh fruit

7.	Steven’s demand for Taylor Swift concert tickets is shown below.
Price ($)	Qty Demanded
250			1
200			2
150			3 
100			4
What is Steven’s consumer surplus if he buys four tickets for $100 each?
A.	$150
B.	$250
C.	$300
D.	$400
[image: ]
8. 	In the figure opposite, if the market quantity is restricted to 500,000, then total surplus will be equal to areas
A. 	A + F.
B. 	A + B + D + F.
C. 	B + C + D + E.
D. 	C + E.

9.	A price ceiling set below the equilibrium price creates a __________ and __________ total surplus. 
A. 	shortage; decreases. 
B. 	shortage; increases. 
[image: ]C.	surplus; decreases.
D. 	surplus; increases. 


10.	Refer to the figure opposite. After the price floor has been imposed, producer surplus equals areas 
A. 	B + C
B. 	B + E
C. 	D + E 
D. 	B + C + D + E
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11. 	Which of the following describes a barrier to entry?
A. 	Something that establishes a barrier to expanding output
B. 	Firms already in the market incurring economic losses so that no new firm wants to enter the market
C.	A government regulation that bars a monopoly from earning an economic profit
D. 	Anything that protects a firm from the arrival of new competitors

12.	Which of the following is a reason for market failure in environmental management? 
A. 	Environmental resources are renewable and therefore difficult to cost. 
B. 	The market can only take into account public goods and services and not private goods and services. 
C. 	The price mechanism does not always take into account social costs and benefits of production. 
D. 	Well-defined property rights do not protect individual owners of environmental resources. 

13.	Which of the following sources of economic growth is least likely to result in a rise in living standards?
A.	population growth
B.	technological progress
C.	capital accumulation
D.	investment in education

14.	The table contains nominal data on the components of Gross Domestic Product (GDP) for a hypothetical economy.
    [image: ]
Assume that the consumer price index for this economy increases from 100 in Year 1 to 110 in Year 2. What is the growth rate of real GDP in Year 2?
A. 	0%
B. 	1% 
C. 	10%
D. 	14%

	
	$ billion

	Exports
	750

	Imports
	800

	Net services
	-50

	Net income
	?

	Balance on capital & financial account
	350


15.	The table shows balance of payments data for an economy.
What is the value of net income? 
A. 	-$150bn 
B. 	-$200bn 
C. 	-$250bn 
D. 	-$350bn
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	Period
	CPI

	June 2014
	105.9

	June 2015
	107.5

	June 2016
	108.6



16.	Refer to the consumer price index data opposite.
	The inflation rate over the period shown in the table is
A.	increasing.
B.	decreasing.
C.	constant.
D.	indeterminate.
	
17.	Which one of the following policy changes might contribute to an improvement in equity in income distribution?
A. 	Raising the income tax-free threshold
B. 	Raising the excise tax on alcohol and tobacco
C. 	Lowering the highest marginal income tax rate
D. 	Raising the rate of the goods and services tax (GST)

18. 	A progressive income tax is one that
A. 	taxes income so that the average tax rate decreases with the level of income. 
B. 	taxes all income above the guaranteed minimum at an average rate that decreases with income.
C. 	taxes income so that the average tax rate increases with the level of income.
D. 	taxes income at a constant rate, regardless of the level of income.

19.	A redistribution of income away from the poorest 10 per cent of society towards the richest 10 per cent of society will move the Lorenz Curve
A. 	closer to the 45 degree line and increase the Gini Coefficient.
B. 	closer to the 45 degree line and decrease the Gini Coefficient.
C. 	further from the 45 degree line and decrease the Gini Coefficient.
D. 	further from the 45 degree line and increase the Gini Coefficient.

20.	Which one of the following would be recorded as a debit in Australia’s balance of payments on current account?
A. 	the sale of Australian wool to Italy
B. 	an increase in the number of foreign tourists visiting Australia
C. 	interest paid on Australian Government bonds to overseas investors
D. 	a Chinese company purchasing a farming property in rural Australia

21.	Which one of the following would be an example of a cyclically unemployed person?
A. 	a ski instructor who is looking for alternative employment during summer
B. 	an accountant who has left their job to travel overseas to gain more experience in their profession
C. 	a cash register operator at a supermarket who has been replaced by self-service check-out machines
D. 	a construction worker who has not worked recently due to an economic downturn in the building and construction industry
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22. 	A leading economic indicator 
A. 	reaches a peak or trough before the turning point of the business cycle
B. 	reaches a peak or trough after the turning point of the business cycle
C. 	reaches a peak or trough at the same time as the turning point of the business cycle
D.	all of the above

23. 	Because of the circular flows of expenditure and income in the economy, total ________ equals total ________ equals total ________.
A. 	expenditure; investment; income
B. 	expenditure; income; value of production
C. 	consumption; expenditure; value of production
D. 	expenditure; leakages; injections

24.	Assume the macro economy is in equilibrium.  If X = $50 million, S = $28 million, 
T = $40 million, G = $45 million and M = $42 million, then investment (I) would equal
A.	$50 million.
B.	$45 million.
C.	$25 million.
D.	$15 million.



____________________________________________________________________




End of Section 1
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Section Two: Data interpretation/Short response 	36% (36 Marks)
This section contains three (3) questions. Answer all questions. Write your answers in the spaces provided.
Suggested working time: 65-70 minutes.
____________________________________________________________________

Spare pages are included at the end of this booklet. They can be used for planning your responses and/or as additional space if required to continue an answer.
● 	Planning: If you use the spare pages for planning, indicate this clearly at the top of the page.
● 	Continuing an answer: If you need to use the space to continue an answer, indicate in the original answer space where the answer is continued, i.e. give the page number. Fill in the number of the question that you are continuing to answer at the top of the page.
____________________________________________________________________

Question 25	(12 marks)
Sugar tax could save 1600 lives, raise $400 million, Australian research shows 
A 20 per cent tax on sugar-sweetened beverages could save more than 1600 lives and raise at least $400 million a year for health initiatives, new Australian research shows. The study, co-written by the Obesity Policy Coalition and the University of Queensland's School of Public Health, is the first of its kind to model Australian population data to assess the impact of a sugary drinks tax.
In the first 25 years of a sugary drinks tax there could be 16,000 fewer cases of type 2 diabetes, 4400 fewer cases of heart disease and more than 1000 fewer cases of stroke, according to the study.
According to the study, the tax could lead to a 12.6 per cent reduction in consumption of sugary drinks, the largest contributors of added sugars in Australians' diets. "The tax at one end saves lives, improves quality of life, raises revenue and ultimately reduces healthcare costs."
Source: Sydney Morning Herald, April 14, 2016

a. i.	If a 20% tax caused sales to fall by 12.6%, Calculate the approximate price elasticity of demand for sugar sweetened beverages. Show your workings. (Assume the tax causes price to rise by 18%).	(1 marks)

____________________________________________________________________________________________________________________________________________________________________________________________________________
a. ii. 	Provide a reason for why demand is elastic/inelastic.	(2 mark)

________________________________________________________________________________________________________________________________________
____________________________________________________________________
____________________________________________________________________

See next page

b.	Use the demand supply model below to show the effect of a 20% tax placed on the sellers of sugar sweetened beverages. You will need to draw a new curve to show the tax. show the price paid by buyers after the tax, the price received by sellers, the size of the tax and the quantity sold.	(3 marks)
[image: ]
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

c.	Who would bear the incidence of this tax – consumers or producers? Explain your answer and show the tax incidence on your diagram.	(3 marks)
________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________
____________________________________________________________________
____________________________________________________________________
____________________________________________________________________
____________________________________________________________________
____________________________________________________________________
____________________________________________________________________



See next page


d.	A tax placed on a good normally creates a deadweight loss. Explain what this means. Why could this tax actually increase market efficiency?	(3 marks)
________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________
____________________________________________________________________
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[image: unemployment.gif]Question 26	(12 marks)	
a. i. 	In which year was the economy in a boom?  Explain why.	(2 marks)

________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
____________________________________________________________________
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a. ii.	Describe what happened to the unemployment rate in 2009 and provide an explanation for this change. 	(2 marks)

________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
____________________________________________________________________
____________________________________________________________________
____________________________________________________________________
____________________________________________________________________

b. 	Explain how the unemployment rate and the participation rate are calculated.	(2 marks)

________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
____________________________________________________________________
____________________________________________________________________
____________________________________________________________________
____________________________________________________________________
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c.	Explain the relationship between the unemployment rate and the participation rate. 	(2 marks)

________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________
____________________________________________________________________
____________________________________________________________________
d.	Describe the change in employment growth and unemployment after 2012. Provide a reason for this change.	(4 marks)

________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________
____________________________________________________________________
____________________________________________________________________
____________________________________________________________________
____________________________________________________________________
____________________________________________________________________
____________________________________________________________________
____________________________________________________________________
____________________________________________________________________
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Question 27	(12 marks)
	Year
	Real GDP
% change
	Unemployment Rate %
	Inflation Rate %
	Share price Index
	New Car Sales ‘000

	June 2009
	1.7
	5.8
	1.4
	380.6
	81.1

	June 2010
	2.1
	5.2
	3.1
	370.8
	87.2

	June 2011
	2.6
	5.0
	3.5
	317.0
	76.8

	June 2012
	3.9
	5.2
	1.2
	363.3
	89.9

	June 2013
	2.0
	5.7
	2.4
	418.2
	95.8

	June 2014
	2.7
	6.0
	3.0
	422.8
	93.6

	June 2015
	2.1
	6.1
	1.5
	413.8
	97.1



a.	Refer to the economic indicators in the table. Provide one example of a coincident indicator and one example of a leading indicator.	(2 marks)

___________________________________________________________________________
___________________________________________________________________________
b.	In which year was the economy in a business cycle trough?  In which year was it in a business cycle peak? Refer to the data to support your answers.	(4 marks)

________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________
____________________________________________________________________
____________________________________________________________________
____________________________________________________________________
____________________________________________________________________
____________________________________________________________________
____________________________________________________________________
____________________________________________________________________
____________________________________________________________________
See next page
c.	Explain why there is usually a negative relationship between the unemployment rate and the inflation rate. In which years is this true? 	(3 marks)

________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________
________________________________________________________________________________________________________________________________________
____________________________________________________________________
d.	Three important macroeconomic objectives are economic growth, full employment, and price stability.  Determine whether these objectives were achieved in 2015.	(3 marks)	
__________________________________________________________________________
__________________________________________________________________________
__________________________________________________________________________
__________________________________________________________________________
__________________________________________________________________________
__________________________________________________________________________
__________________________________________________________________________
__________________________________________________________________________
__________________________________________________________________________
__________________________________________________________________________
__________________________________________________________________________
__________________________________________________________________________

End of Section 2



Section Three: Extended response 	40% (40 Marks)

This section contains four (4) questions. You must answer two (2) question. Write your answer on the lined pages provided.
Spare pages are included at the end of this booklet. They can be used for planning your responses and/or as additional space if required to continue an answer.
● 	Planning: If you use the spare pages for planning, indicate this clearly at the top of the page.
● 	Continuing an answer: If you need to use the space to continue an answer, indicate in the original answer space where the answer is continued, i.e. give the page number. Fill in the number of the question that you are continuing to answer at the top of the page.
Suggested working time: 80 minutes.
____________________________________________________________________

Question 28	(20 marks)

a.	What do economists mean by ‘market equilibrium’?  What do economists mean by a ‘shortage’? By a ‘surplus’?  Explain how the price mechanism clears shortages and surpluses. 	(10 marks)

b.	Use the demand/supply model to explain each of the following:
	i.  Hepatitis scare in frozen berry market causes the price of fresh berries to rise. 
	ii. The worldwide demand for large screen LCD televisions continues to increase annually and yet the prices of these televisions continues to fall. 
		(10 marks)
___________________________________________________________________________

Question 29	(20 marks)

Explain the role of the government in a modified market economy. Refer to each of the following:
i.	the regulation of business enterprises
ii.	the provision of goods and services
iii.	redistributing income
iv.	stabilising the business cycle
		(20 marks)
___________________________________________________________________________

Question 30	(20 marks)

Economic growth in China has decreased in recent years. Explain how and why this would have affected Australia’s business cycle including the effects on the components of aggregate expenditure and on key economic indicators such as unemployment, inflation and the current account balance. 	(20 marks)

___________________________________________________________________________
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Question 31	(20 marks)

a.	Distinguish between public goods and common resources. Provide examples of each and explain why they cause markets to fail.	(10 marks)

b.	What are externalities and why do they cause markets to fail? Provide an example of a a negative externality and use a model to explain why the market fails and how the government may resolve the problem.   	(10 marks)

____________________________________________________________________








End of Exam
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